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] Please check that this question paper contains 8 printed pages.

° Code number given on the right hand side of the question paper should be written on
the title page of the answer-book by the candidate.

] Please check that this question paper contains 34 questions.
° Please write down the Serial Number of the question before attempting it.

] 15 minute time has been allotted to read this question paper. The question paper will
be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the
question paper only and will not write any answer on the answer-book during this

period.
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(aTforsr)
ELEMENTS OF BOOK-KEEPING AND ACCOUNTANCY
(Commerce)
FReifa a3 o2 3BT 3% 100
Time allowed : 3 hours Maximum Marks : 100
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faeq 3791 3T gt 7 o7@T 8 |
(iii) 37T JF1 & [o70 1397 37% 8¢ 597 & TE FoT 1T & |
General Instructions :
(i)  All questions are compulsory.
(ii)  Questions from serial number 1 to 10 are Multiple Choice Questions carrying one

mark each. You have to write the correct option in your answer-book.

(iii) Marks allotted to other questions are indicated against each of them.

1. frfefaa o @ = v Gofira whie =& 3 1
(31) S T KU 33MT |
(@) Tt g dSi @ |
GCIRRET IR
(@) U TRf grdtd ! o= & 9TE

This one of the following is not a capital receipt :
(a) raising of bank loan

(b) capital contribution by the owner

(c) rentreceived

(d) money received from the sale of a fixed asset

2. U TR T bl W hA o foTu fema T sra BT | 1

(31) T ISTd 2
(§) T AT 5
@) T AR TG =

@ FH q P T
A payment made for acquiring a fixed asset is
(a) a capital expenditure (b) arevenue expenditure
(c) adeferred revenue expenditure (d) None of the above
3,  TefaRad geafcal 6 § 389 W IoIsTE A8 T S 1
(37) = @) AR @ wWH @ &
Out of the following assets depreciation will not be charged on
(a) Machine (b) Furniture (c) Stock (d) Utensils
135 2
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Teh T o YoAGH <hi ThH <hi TTUHT Hi i TE THId & hLdl 1
(37) gufa 6l AN (§) Hufd &l Y

(d) TUfd 1 TR o (T) T T TS Yoo

This does not affect the calculation of the amount of depreciation of an asset :

(a) costof asset (b) life of asset

(c) market value of the asset (d) residual value of the asset

Teh Sich GHTET foraoT SR ST 8 399 /384 <61 718 giafsai 6 gemar & 1

(31) Sih U b 3T HIT e o sfch TrT H

() &% U Fb 3N HI b &b Uehg W H

(&) HI b o g T 3TN S Ty §

(@) HAASHIITH Y

A bank reconciliation statement is prepared with the help of entries made in —
(a) Bank pass-book and Bank column of the cash book

(b) Bank pass-book and Cash column of the cash book

(c) Cash column and Bank column of the cash book
(d)  Only bank pass-book

T fafm o= § gereh i <t T gl g - 1
(30 2 ® 3 @) 4 @ 5

The number of parties in a bill of exchange is :

(@) 2 (b) 3 (c) 4 (d 5

1 9 318 e AR i Hufd i ISEE 1
(3) R () @R (®) AT (@) s Irferfereny
This one of the following is an example of business asset

(a) Creditors (b) Debtors (c) Drawings (d) Bank Overdraft
AT - @ fe@ran & - 1
(31) A A™ (F) Hehel @A @ TR Q) Hehel &I

Profit and loss A/c shows :

(a) Net profit (b)  Gross profit (c) Liability (d) Gross loss
frefafiad o @ sod 3ol orareRd fehTe W@ S <l SaTeT TuTaT 2 - 1
(31) ufectes ferfires ot (%) wrgee fafies s

(W) BIEIgwE (v) faumia woer

In this of the following there is greater possibility of maintenance of incomplete
accounting records.

(a) Public Ltd. Co. (b) Private Ltd. Co.

(c) Small Shop (d) Departmental Store
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(1) @ @) =
G K] @ o W=

If there is no introduction of fresh capital and closing capital is greater than opening

capital then it denotes

(a) Profit (b) Loss
(¢) No profit no loss (d) Nothing
HeABTE o THHTYG T |

Define depreciation.

31 G 1 S Sob I 1 GATAT R ?

What does the credit bank balance of cash book imply ?

S FuTYH foeru R R ?

What is bank reconciliation statement ?

Ry foremor s SR ST @ 7

Why is statement of affairs prepared ?

JRATA TIGT o §1 I8 3R YfiTa Wlial o 31 It G |

Give two examples of revenue receipts and two examples of capital receipts.

T o= <1 ST o & IS Q) AT SATsT |

Give any two advantages of using a bill of exchange.

31Ut feehtE T i iE i BT S |

State any three disadvantages of keeping incomplete records.

Teh 9 1 YT ST ST & €9 § 3TqT H1 F1 786 8 ?

Why is it necessary to distinguish an expenditure as capital or revenue ?

1 b T AT T g1 8 | H1E I T -7 Farse fSeht whn 3ad s Fme ferewor sATa

I T8 e T AW I < I St St |

Cash Book Balance is given. State any three transactions the amount of which will be
added to get pass book balance while preparing Bank Reconciliation statement.

S <t U g T 4,500 H1 Sfee Soim fomn W 2 3R T urEsw 7 WY Uk 9 @i o
% 2,000 STHT 3 T ST he1 9 TS 21 TohT TT & | STTIRhT oh3T gk oh STIAR AT T & 7

The pass book shows a debit balance of I 4,500 and a customer has directly deposited
% 2,000 in your bank account which has not been recorded in the cash book. What is the

balance as per your cash book ?
4
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21. Uk faf9a 91 o g A9 3Taweh A0 §dTsy | 3

Give any three essential features of a bill of exchange.

22, M T I T8 7 Teh 3T SIoTU | 3

What is deferred revenue expenditure ? Give one example.

23, TS EHE A 1 Hal, 2014 i T 20,000 T Hiek WLET | $HT STARN Sfaq 4 I1 8 3R
HEE I I 2 | TR Jorgrd Heft 1@ ugfa & e =medt € | 4 99 1 Seftek @

feamze | @rd g Ay 31 formar =1 9 fRu 9md § | 4

Ram & Sons bought furniture for ¥ 20,000 on 1% January 2014. Its useful life is 4 years
with nil scrap value. The accountant wants to provide depreciation on straight line
method. Show furniture A/c for 4 years. Accounts are closed on 31 December each
year.

24. K g I UTH T b AT § A 37 o hIg IR HRUT FATST | 4

State any four causes of difference in the balances of Cash book and Pass book.

25. e 3 9T =1 1-1-2016 1 T 10,000 T HTT 3R <=1 | Tesam 3 39 WA o foiw 9
T g 1 foret forat | w7 foret weiiepr e foram | yprram <t fafer o forer 61 sy firat
7 | fesa o s | gfaean i | 4

Divya sold goods for ¥ 10,000 to Sandeep on credit on 1-1-2016. Divya drew a bill of
exchange upon Sandeep for the amount for three months. Sandeep accepted the bill. On
the due date the bill was met. Give entries in the journal of Divya.

26. Taf= o= = g 8 ? 35T T WET ST | 5

What is a bill of exchange ? Give a specimen thereof.

27. (31) TG Y HITEICT 2 ? $Eeh! TUHT fehd TehR <hl ATl & 2 2
@) T @31 femsr 2017 = w9 B9 9t 99 o fote eny-g1i @rar sE - 3
3

Tehed AT 70,000

I fean 20,000

forsreft 15,000

TATBI T = 5,000
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(a) What is Net profit ? How is it calculated ?

(b) Prepare profit and loss A/c from the following for the year ending 31 December

2017.
3
Gross Profit 70,000
Salaries paid 20,000
Electricity 15,000

Telephone expenses 5,000

28, HHIAT T gTE T shi 3TTE9ehdl shl IHETST | 5

Explain the need for charging depreciation on assets.

29. SR @A H 3T greft fefaiad Tei sl Tusst 5
(i) TR Tieh (i) 6 aTaEi(iii) ok amaeht (iv) 3tfam =i (v) Teha Y

Explain the following items appearing in a Trading Account :
(i)  Opening Stock (i1) Purchases Return (iii) Sales Return (iv) Closing Stock
(v) Gross Profit

30. (37) M AT 20,000 HT HTA TG | 39h ITE T 8,000 HT TR i AT | 35 398 4
FB °1A T 30,000 H o= fezm 3 T 5,000 AT 1 AT T foveht 1@ T | T g

S 7T AT <t ARTd fHehTfeTT | 3

@) T 1,50,000 ¥ Teh QT T @l w3 qia & T 25,000 I5Eh TG W @ Y

T | T T Ig T T I AT T SHST @ A1 -8 @Td | sfere fopa

STQ | 2

(a) Shyam purchased goods for ¥ 20,000. He had an opening stock of ¥ 8000. He
sold some of the goods for ¥ 30,000 and goods costing ¥ 5000 remained unsold.
Calculate the cost of goods sold by Shyam.

(b) A second hand machine was purchased for ¥ 1,50,000 and immediately a sum of
T 25,000 was spent on its repair. Will this amount of repair be added to the cost of
machine or debited to profit & loss A/C ?
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31, =18 31 fg@wr 2017 % g -9 ST : 5
3
tErﬁ 2,50,000
e 3R S 50,000
ETIH 1,00,000
TIER 70,000
L 80,000
AT 20,000
HTeT <l ATH 30,000
o 1,20,000
Prepare Balance Sheet as on 31% December, 2017 from the following :
3
Capital 2,50,000
Cash and Bank 50,000
Furniture 1,00,000
Debtors 70,000
Creditors 80,000
Drawings 20,000
Profit of the year 30,000
Building 1,20,000

32. Tl grgfoRn W g oRTH Sl feregl < fafert obt mgmsT | Sk m A gl Rl vt sasT L 6
CUE

T MR A 1 SHedt 2015 W1 % 5,50,000 H Th A @G 3R 38k T H T 50,000
T U | 98 Joust 30% 1 e A T /BId G Ughd S TR oRIET =mgal & |
T 1 R @t fe@msu | @1 gfd a¥ 31 feamet o6 o fhu S 2 |
Explain any two methods of charging depreciation on fixed assets. Give their merits and
demerits also.

OR

A trader bought a machine for ¥ 5,50,000 on 1 January 2015 and spent ¥ 50,000 on its
errection. He wants to provide depreciation at the rate of 30% on written down value
method. Show machine account for three years. Accounts are closed on 31% December
each year.
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33, sk gAY Torawor s hl SHEIATE! sl THEEY | UHT foemor s o fou 319 <= SHehrl

Thdl Ul 7
AT

ABC 1. o 31 a2 & SR W 31-12-2017 o foTu S wmmer fereawor sHs -

(i) P31 o h AR S 29 T 62,500.
(i) <% seh H THT g W 31-12-2017 T shise Tal g3 T 8,900.

(i) = STRY G T A o T 31-12-2017 796 Sqd & g7 T 12,500.

(iv) Seh < SATHIST 91T o foTQ shfge fomam € 5,000
(v) S 9 S YUR o foru Sfere fomam T 400.

Explain the procedure of preparing a Bank Reconciliation statement. What information

will you collect to prepare such statement ?
OR

From the following particulars of ABC Ltd., prepare bank reconciliation statement on

31-12-2017.
(1)  Bank balance as per cash book I 62,500.

(i1)) Cheque deposited into bank but not credited upto 31-12-2017 % §,900.
(ii1)) Cheque issued but not presented for payment till 31-12-2017 I 12,500.

(iv) Bank credited ¥ 5,000 receiving dividend.
(v) Bank charges debited by bank I 400.

34, T 4 U %ot forshd 1 &9 A1 BT 19 HIFT

3
(i) 9Tt o & I ISt 60,000
(il) =T % 31 H FHoT FEArEr 1,06,000
(i) ©TeT % 37 | A GAATY 53,000
(iv) o gry aTet W U oS 18 Stfafer geft 5,000
(V) |7 W T ST 20,000
(vi) Tl g el @Y Y 1,000
YAl
feuff s g P IR ITH-F A HE =g ?
Calculate profit or loss made by a fruit seller from the following :
3
(1)  Capital in the beginning of the year 60,000
(i) Total assets at the end of the year 1,06,000
(i11) Total liabilities at the end of the year 53,000
(iv) Additional capital brought in by the proprietor during the year 5,000
(v) Drawings during the year 20,000
(vi) Fruits consumed by the proprietor 1,000

OR
What is the statement of affairs ? How is it different from balance sheet ?
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